Pedigree Analysis Problems Name K‘%

AP Biology
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Fill in the pedigree above as completely as possible. Is the trait in question most likely autosomal recessive, autosomal
dominant or X- linked? Do msv~ounct

What is the probability that Individual I-1 and I-2 would have an offspring that displays the trait in question? (Show

Punnett square to support your answer) o X P(Ou ® @
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What is the probability that Individual IV-10 would have an offspring with the trait in question if she mated with a male
that did not display the trait? (Show Punnett square to support your answer)
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Fill in the pedigree above as completely as possible. Is the trait in question most likely autosomal recessive, autosomal

dominant or X- linked? \(- \W\M FC_LQC-SLV‘Q

What is the genotype of individual I-1? 1-2? 11-1? 1I-2? What are the possible offspring of Individuals II-4 and 1I-5? What
is the probability of having each possible offspring? (Show Punnett square to support your answer)
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Fill in the pedigree above as completely as possible. Is the trait in question most likely autosomal recessive, autosomal

dominant or X- linked? MSW—Q \{’E,(_Q%L\}{,

What is the probability that Individual 8 and 9 would have an offspring that displays the trait in question? (Show Punnett

square to support your answer) AO- « Aa, @ @ 26‘70 Lapubd cLLSFid.ta
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What is the probability that Individual 5 and 6 would have an offspring that displays the trait in question? ? (Show

Punnett square to support your answer) 0o, % AQ_ /\_,®/\_@ g
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What is the probability that Individual 10 and 11 would have an offspring that displays the trait in question? ? (Show

Punnett square to support your answer) o0 Ol :
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Construction and use of a Pedigree

You are a genetic counselor who has been given the following information from which your will construct a pedigree:

1. Yourdata: Henry has a double row of eyelashes, which is a dominant trait. Both his maternal grandfather and
his mother have double eyelashes. Their spouses are normal. Henry is married to Isabella who also has normal
lashes and their first child Polly has normal eyelashes. The couple wants to know the chances of any future child

having a double row of eyelashes.

2. Construct two blank pedigrees. Begin with the maternal grandfather and grandmother and end with Polly.
a. Pedigree 1: Try out a pattern of autosomal dominant inheritance by assigning appropriate genotypes
for an autosomal dominant pattern of inheritance to each person in this pedigree.
b. Pedigree 2: Try out a pattern of X-linked dominant inheritance by assigning appropriate genotypes for
this pattern of inheritance to each person in your pedigree.
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3. Which of the Pedigrees above is correct? .Pﬁd-bo\(@e- \
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What is the genotype of Henry and Isabella? (Lfl,
What gametes can each of them make?r@ /‘@ @

What is the probability of Henry and Isabella having a child with double eyelashes (Show the Punnett square for
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